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6DUWLQL������������������� 3ROD� .RQVXPVL 0DV\DUDNDW� 0LVNLQ� GL�
.HFDPDWDQ� 3DQJNDODQ� .XUDV� .DEXSDWHQ�
3HODODZDQ�3URYLQVL�5LDX�

3HQHOLWLDQ�LQL�EHUDZDO�GDUL�NHQ\DWDDQ�EDKZD�.HFDPDWDQ�3DQJNDODQ�.XUDV�
PHPLOLNL�0DV\DUDNDW�PLVNLQ� SDOLQJ� EDQ\DN� GL� .DEXSDWHQ 3HODODZDQ�� 3HQHOLWLDQ�
LQL�EHUWXMXDQ�XQWXN�PHQJHWDKXL�SROD�NRQVXPVL�PDV\DUDNDW�PLVNLQ�GL�.HFDPDWDQ�
3DQJNDODQ� .XUDV� .DEXSDWHQ� 3HODODZDQ� 3URYLQVL� 5LDX�� 3ROD� NRQVXPVL� WHUEDJL�
PHQMDGL�SDQJDQ�GDQ�QRQ�SDQJDQ��

-HQLV�SHQHOLWLDQ�LQL�LDODK�GHVNULSWLI�GHQJDQ�SHQGHNDWDQ�NXDQWLWDWLI��3RSXODVL�
GDODP�SHQHOLWLDQ�LQL�LDODK�VHOXUXK�NHOXDUJD�PLVNLQ�GL�.HFDPDWDQ�3DQJNDODQ�.XUDV�
\DQJ� EHUMXPODK� ����� NHOXDUJD�� %HVDUQ\D� VDPSHO� UHVSRQGHQ� SHQHOLWLDQ� GLKLWXQJ�
EHUGDVDUNDQ� UXPXV� 6ORYLQ GHQJDQ� WLQJNDW� NHVDODKDQ� VHEHVDU� ����� VHKLQJJD�
GLSHUROHK�VHEDQ\DN����NHOXDUJD�

3ROD�NRQVXPVL�SDQJDQ�PDV\DUDNDW�PLVNLQ�GL�.HFDPDWDQ�3DQJNDODQ�.XUDV�
OHELK� EHVDU� GL� EDQGLQJ� SROD� NRQVXPVL� QRQ� SDQJDQ� GDUL� WRWDO� NRQVXPVL�
5S������������ SHU� EXODQ� ������� GLJXQDNDQ� XQWXN� SDQJDQ \DQJ� VHWDUD� GHQJDQ�
5S������������ GLEHGDNDQ� PHQMDGL� ��� MHQLV�� -HQLV� SDQJDQ� \DQJ� SDOLQJ� EDQ\DN�
GLNRQVXPVL� \DLWX� SDGL�SDGLDQ�� PDNDQDQ� GDQ� PLQXPDQ� MDGL� VHUWD� URNRN�� GDQ�
LNDQ�XGDQJ�FXPL�NHUDQJ�� .RQVXPVL� QRQ� SDQJDQ� LDODK ������ VHWDUD� GHQJDQ�
5S����������� GLEDJL�PHQMDGL���MHQLV��.RQVXPVL QRQ�SDQJDQ�SDOLQJ�EDQ\DN�\DLWX�
XQWXN� NHEXWXKDQ� SHUXPDKDQ� GDQ� IDVLOLWDV� UXPDK� WDQJJD�� DQHND� EDUDQJGDQ� MDVD��
VHUWD� SDNDLDQ�� DODV� NDNL� GDQ� WXWXS� NHSDOD�� %HUGDVDUNDQ� KDVLO� SHQHOLWLDQ� WHUVHEXW�
PDND� GDSDW� GLQ\DWDNDQ� EDKZD� UDWD�UDWD� NRQVXPVL� PDV\DUDNDW� PLVNLQ� GL
.HFDPDWDQ�3DQJNDODQ�.XUDV�EHUDGD�GL�DWDV�JDULV�NHPLVNLQDQ�
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